ILLUSTRATION BOOKLET

DISPLAY CIRCUIT BOARD
PARTS PICTORIAL

Part of 595-3100-01

SOLDER

FLAT
RIBBON

PICTORIAL 1-1 © | o

CIRCUIT BOARD
(FOIL SIDE)

L.uﬂ'.“éﬂ;ll

12-PIN CONNECTOR

T
\n Egg CUT OFF 3-PIN
SECTION FROM
S:ggT‘—* TETLTLLE] A 15-PIN
\ ; CONNECTOR
1/4" 10-SEGMENT °.9 olo
DISPLAY BAR e o, 6
CIHCUIT BOARD UDUUUO\M’OUU ?
* COMPONENT SIDE/
1-3/8"
1/27 PICTORIAL 1-2
7/8"
re— 1/4"

Detail 1-2B

Copyright € 1983
Heath Company
Alf Rights Reserved

Model HD-3030 Printed In the United States of America



Page 2
RTTY DEMODULATOR CIRCUIT BOARD

PARTS PICTORIAL

DEMDDULKTDR-
LR

PICTORIAL 2-1

 DEMODULATOR

= ;_‘.jw - _'.,,.v..-._m____q . B : -. I: * :é :
Eoxaty - »..% i }_ 050383 A&E &
PRty : : S BT i £ 7 e :
] e "‘n‘ o ‘"‘t,
>4 o B T e L

' :- 85"2860 i ( 5 fi
Fl O SR B B 5 i 0 I l .!..L.i.j' '--' }

tk S1 IL 82 = el

10-HOLE 5-HOLE
e SOCKET SOCKET

- PICTORIAL 2-2

DEMO(}ULATOR- :

‘Hayaggl b : .'.., 050333
l l . i e SO0 IIAL_

ALWAYS IDENTIFY AN I.C. BY THE
PART NUMBER OR TYPE NUMBER
NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN.

ALWAYS IDENTIFY AN 1.C. SOCKET
BY COUNTING ITS PINS.

NOTE: THE STYLE MAY BE SLIGHTLY

DIFFERENT THAN SHOWN.

PICTORIAL 2-3



CW DEMODULATOR CIRCUIT BOARD

PARTS PICTORIAL

o
o W= ﬂm— n._..u
o gx ™ -
o] - <
< < e
e — 4
o7 w, P& =)
o oy Q ot
—_ 58 B &
) o O —
et . =
o, (=¥

-

Page 3




Page 4

ACTIVE FILTER (2295 Hz)
CIRCUIT BOARD
PARTS PICTORIAL

5-HOLE
SOCKET

@ ;

10-HOLE
SOCKET

PICTORIAL 4-2

=——1 -— T
M -
oy ¥ —
o <
w oy
o i s O
S =
o &)
d | )
a3 (=9

ﬁ

1

P

PICTORIAL 4-3




ACTIVE FILTER (2125 Hz)

CIRCUIT BOARD
PARTS PICTORIAL
=

D
)

sv | sz
——_— — —

10-HOLE 5-HOLE
SOCKET SOCKET

PICTORIAL 5-2

e
R e
‘k‘:ﬁ

PICTORIAL 5-3

Page 5



AFSK CIRCUIT BOARD
PARTS PICTORIAL

ALWAYS IDENTIFY AN 1.C. BY THE
PART NUMBER OR TYPE NUMBER
NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN.

ALWAYS IDENTIFY AN 1.C. SOCKET
BY COUNTING ITS PINS.

NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN.

PICTORIAL 6-1

10-HOLE 5-HOLE

SOCKET SOCKET
PICTORIAL 6-2

10k0}

CONTROL

PICTORIAL 6-3

Page 6



ALWAYS IDENTIFY AN 1.C. BY THE
PART NUMBER OR TYPE NUMBER
NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN,

<D

e

i
NS

\‘1\5

MAIN CIRCUIT BOARD
PARTS PICTORIAL

5
i

PIN
BAR

(1 OR 2 PIECE, PIN BAR MAY NOT

COME ON CONNECTOR.)

G

[4}“‘;
L

|t

ALWAYS IDENTIFY AN IC SOCKET
BY COUNTING ITS PINS.

NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN.

U

Page 7



Page 8

SECTION | SECTION
3 4

|
|

SECTION I SECTION
|

'OT INSTALLED
AT THIS TIME

PICTORIAL 7-1



SECTION

SECTION
3

] secTiON

PICTORIAL 7-2

O

Page 9



DISPLAY

%%%ﬂ
j;’a
L
i

e

SEC':’IDN

SECTION
2

PICTORIAL 7-3

R70
ON

FOIL

SIDE

SCREW

? Page 10
4-40x1-3/8"

POWER
TRANSFORMER

MATCH .
NUMBERS

¢
&

FLAT WnSHEH(u)

#4 LOCKWASHERGD Detail 7-3A
a-a0 NnUTED

INSET

FOIL SIDE
OF
CIRCUIT BOARD




CHASSIS
PARTS PICTORIAL

Page 11




CHASSIS
PARTS PICTORIAL (CONT'D)




#6 LOCKWASHER
AC SOCKET

6-32 X1/4°
BLACK PHILLIPS

- 6-32 NUT
+6 SOLDER}? 2
LUG
6-32 B-32 NUT CONTROL
NUT @ NUT
SCRARE ! M CONTROL
Sl FLAT WASHER
J k\‘scm\PE
6-32X1/2° PAINT
BLACK PHILLIPS
SCREW
PHONE JACK  LOGKWASHER BACK
PANEL

PICTORIAL 8-1

INSET #2

INSET #1

1. WRAP AND
MAKE A MECHANICALLY
SECURE CONNECTION.

2. THEN SOLDER

AS DIRECTED IN
S ' 4
3/4"
HEAT SHRINKABLE
SLEEVING
o
5° ©
BLK
1-3/4"
BLK |
4
RED

PICTORIAL 8-2

Page 13



a..32x1f4"
BLACK PHILLIPS
FLAT HEAD

INSET

PUSH HERE

8=-32X 1/4"
BLACK PHILLIPS &
SCREW

+#6 LOCKWASHER

4-40X1/4"
BLACK NYLON
SCREW

o

.~ GREASE @ >

BN

@ // S
- GHCJE;E\M l
6-32 NUT BARE uz
~<~
D '
4 /

PUSH-ON

GREASE
TRANSISTOR

INSULATOR

4-40X5/168° W
BLACK PHILLIPS
SCREW

| pisPLAY
CIRCUIT
BOARD

NUT

PICTORIAL 8-4

4-40 NUT @

-— 4-40 NUT

PICE

CHASSIS

+EX1/47
BLACK PHILLIPS

SELF-TAPPING
SCREW

| 3
*6 LOCKWA Hsg ‘L,/’a
.!.c SHER %&%

CHASSIS
ASSEMBLY

& TOOTH

LOCKWASHER

FUSEHOLDER
QDN
6-32 NUT \ \ P
@y\\\ TRANSISTOR
Q12 S ‘\ii INSULA

GREASE

BARE METAL
SIDE 2~~~

TOR
~

> B

FUSE

REPLACEMENT

LABEL

Page 14

6-32 X 3/8°
BLACK PHILLIPS
SCREW

A

£4-40X1!4'

/ BLACK NYLON

SCREW

MAIN
CIRCUIT
BOARD




BACK
PANEL

I. NC SECKET____—'\B:::(:FUSEHOLDER—_;;{ - nﬁ
- ennp—af
2\ \—!3 | 2 [
| t
N & pppumm .
| L -
MRERN

NI $a balJTI0 o8
% { B N\ CA10 ot sonme) (110000000
lﬂ-\ A=Y-1=Y

[Mrjﬁ_ﬂ[ W L—: Eﬂ ASY

S S

CIRCUIT BOARD
HOLDER

I’\
=7 [
0

, <
= . : =
Ml | -h___ . /-”L N |W
e~ [\ we [ | (TTIIITee < |2
6-32x1/4 + ‘mn|l ' !
BLACK SCREW g 1
Ty m melme
" r
H I r ‘ :
i st 1] g IT 8 :[@ :[@ ;'_
BLUE AND WHITE || + ; 1 [ 2 = = 4 r
LABEL ——||.! + | ]: | 1, & [ { t[ r
N ! 1z S | 1S :
v b i x . > C :
bl T 2 JE R . ¢ :
Ll d N . : h L 2285 C AFSK
& D i C : ACTIVE FILTER | |* CIRCUIT BOARD
s LL @ + == e L CIRCUIT BOARD ==
15
a— o+ « e x
o iz | (ooo B
'9 +|LLI a g L <
/’J 4 = O
| S
1 at 8 1
1 i e
GRAY BRN
CW DEMODULATOR DEMODULATOR I
CIRCUIT BOARD CIRCUIT BOARD /
- : — FLAT RIBBON
r 2125 CABLE

® RCUIT BSAED \ \ )
@ ——— {9

PICTORIAL 8-5

Page 15



OO (OFF)

55N (ON) N Page16
Olt:‘ /‘l// LINPELSGORD 1/0 CONNECTOR
L,.\°|° lw—______Eh___\__::— o \ —
l‘ Ll RN N & ) @C@\:{j&\__\\\m @Nﬁ%_‘§: F@Z‘:’O"o%"c‘?o"o%%%%ﬂ
- &\(W\\_Q\&mﬂ === R, é \s: !
SN \\ =8 S

&)

> 800 n
il
> 86000
L] 8!
> 1000 N ——p—

= AFSK

ND LeveL

| &,

I
HIGH y UU N G n* wE Saetiific:
VOLTAGE - ) &l € O D[II] i T SR T
AREA - \fIDU jD_' j ﬁ [] Q ajail . [ [ slo(Ia0]olool
i
[ R66
' — — S RDA
% e i S NAL IIRIALE:
E L i E W] — & |_‘| !_._J = = I;’@/ )
iy~ Il — = = = (N

[ S g L @ ® + / d ; Y

f"”'__g .?" A b = 3 = P1 P1 P1 ‘ P1 P1 P

® 15 7 - TOImelm (me|me|re|me|m
: MO (AS|fe z e (@) re D ) R R ) R ) [

r ; 2 0 [H t oo o i R R c

i E U@ @ r[®]5 [®J EP?[® L:"J TP tﬂ”‘ JEtTP MJP 1\&”’ \§ FILTER
1 Rt Syl : ra - ~u I GNTROLS
: : E L . (P1,P2,P3)
' il ; o
% ~as

E 3
i
@@
[
&
[
L
[
{ _—
7,
—
!r_ —
%)
= = =
O /ZW DEMOD
TTY DEMOD
125 HZ

— [
R
/s
[:/
2295 HZ
]O
/ 2550 HZ
pmm——
/29?5 HZ

=

— 1R

E—
C {

[ =
\%

-

9 i@
J (9

- @
e — i [@/ = = z& L N\

PICTORIAL 9-1 @ = 2N

i

--—1---i----

L

e r—
———==
L

—

t

PICTORIAL 10-1




COMPUTER

PRINTER

TTY MACHIN

E

PART A

SPEAKER AUDIO

20MA DR B60MA
CURRENT LQOP

TRANSMITER AUDIO

(AFSK)

A A

PUSH TO TALK CIRCUIT (PTT)

TRANSCEIVER

OR CW KEYING

PICTORIAL 11-1

NOTE
4--BANDED END

g 0

5@:@% &

N e =
R s
ek

H

ODDD[II[IIIJ[III[I]

QQ‘“’ 1 0q sa [19e
[j_j@ Jf@ o]a [[[a).0 (D
II \J []I—— DH | — ] [] THFFIiS\HOLD
C& 00 Ll o) gl Lol 1::'@/)
hul < S AR <1, <a )

<IN

I'

1

|

/

HDO-3030

HIGH VOLTAGE

PICTORIAL 11-2

AREA
PART B /

r ---------------- ﬂ

i i

g 1 BANDED :

FOIL SIDE - i END |

OF MAIN . Lo 1 é:)., :

CIRCUIT BOARD | A, R CRB

i
i

Hx'._;: [ - Wt

'_'.-3!:.6




Inputs:

2 KEY-N

5 AFSKIN-TTL

6 AFSKIN-RS

9 SEND-N

25 SEND-P

13 RECAUDIO

Outputs:

3 DMOUT-TTL

4 DMOUT-RS

10 XMIT-P

11 XMIT-N

7 SCOPEMARK

8 SCOPESPACE

12 SENDAUDIO

SIGNAL DESCRIPTIONS

TTL compatible, active in Send only.
Requires pull-down to enable AFSK
downshift for CW ID.

TTL compatible, Mark high. Re-
quires pull-down for Space.

RS-232 compatible bipolar input.
Mark = —3 V min., Space = +3
V min.

TTL compatible. Requires active
pull-down to place Interface in Send
mode.

RS-232 compatible bipolar input.
Requires active pull-up to place In-
terface in Send mode. Transmit =
+3 V min.; Receive = —3 V min.

Receiver audio input. Connects to
any source between 4 ohm and 600
ohm impedance, 100 mV minimum
level.

TTL compatible demodulator keying
output. Mark high.

RS-232 compatible bipolar demod-
ulator output. Mark = —6 V min.;
Space = +6 V min. into 3000 01
load.

Positive keying for PTT or CW. 50
mA maximum. Toggied by Send-N
or Send-P inputs.

Negative keying for PTT or CW. 50
mA maximum. Toggled by Send-N
or Send-P inputs.

50 k{} impedance Mark filter output,
phase corrected for accurate “+"

display on oscilloscope.

50 k() impedance Space filter out-
put, phase corrected for accurate

* + " display on oscilloscope.

AFSK audio output, adjustable O to
2 volts ms, 600 (1 impedance.

INTERCONNECTION CHART
HD-3030 COMPUTER
11O CONNECTOR CONNECTOR
RDA 1 1
Key-N 2 2
DMOUT (TTL) 3 3
DMOUT (RS232) 4 4
AFSKIN(TTL) 5 5
AFSKIN (RS232) 6 6
SCOPE SPACE 7 7
SCOPE MARK 8 B
SEND N 9 9
XMITP 10 10
XMITN 11 11
SEND AUDIO 12 12
RECVAUDIO 13 13
FSK 14 14
15 15
16 16
17 17
GROUND 18 18
19 19
20 20
21 21
22 22
No Connection 23 23
24 24
SEND P (RS-232) 25 25

The documentation supplied with your computer and
software should specify which input and output lines
are used by your computer.

14 FSK Frequency shift keying bipolar out-
put. Mark = —6 V min.; Space =
+ 8V Min. into 3000 {1 load.

1 RDAOUTPUT TTL compatible active pull-down
output. Indicates presence of re-
ceived signal in Receive mode.
Locked off during Send.

LOOP OUTPUT  (Rear panel jack): 100 V, 60 mA or
20 mA current loop output. Intemnal
jumper required for 60 mA.

L

AUX POWER (Rear panel recaptacle): 5 ampere
relay contact output supplies 120
VAC when triggered by “Autostart”.

INSTRUCTIONS

Refer to your computer/software documentation to de-
termine the input and output signals available or re-
quired at your computer connector.

Use a lead pencil to mark the signal descriptions next
to the computer pin numbers on the chan.

Compare the signal descriptions of your computer/soft-
ware with those of the HD-3030 /O connector.

Draw a pencil line from one pin number to the other
to represent the interconnections required.

Use shielded cable (such as RG-174U) wherever pos-
sible and prepare the required cables.

Connect and solder the cable ends to the appropriate
pins of your /O connector plugs, as you drew them
on the chart. Label the plugs “HD-3030" and “Com-
puter”.

Connect the “HD-3030" plug to the I/O connector on
the rear of your Terminal Interface, and the “Computer”
plug to your computer.

Page 18



POWER ON/OFF

Switchas 120 VAC on or off.

RDA: Indicates received data available in
the pass band of the Mark filter.

SEND: Glows when unit is in Send mode.

POWER: Glows when Power button is in
and unit is connected to 120 VAC source.

Heathkit

TERMINAL INTERFACE
HD 3030

MARK: Indicates Mark signal received.
Glows alternately with Space indicator when
receiving RTTY.

SPACE: Glows alternately with Mark when
receiving RTTY.

BAR GRAPH: Tuning Indicator. Strongest
RTTY signal is indicated when right-hand

~
\'\

lamps glow.

” 2

4/ POWEB/ AT AT

£ 7 .
¢ / &

’JH :// A S ANDRY
i /, 4 s -
\;; g s .7
u//% // /, \pglpm.l &

g IS v
,7//5%_ 4

/" REVERSE SHIFT |~
r SEND T

~“AUDIO FREOUENCY SHIFT

’JvnESE EC" RN - l?wH A5 i!

I-lhll ‘B

OPERATE/STANDBY

Standby locks the demodulator output in the
Mark state and turns on Autostart. If Loop is

PICTORIAL 13-1

SEND/RECEIVE

Receive: Enables fiters and piaces the
demodulator output on the RS-232 and TTL
output lines.

Send: Locks demodulator outputs in Mark
state, enables AFSK audio output, and acti-
vates Xmit-P and Xmit-N outputs.

AUDIO FREQUENCY SHIFT

Interlocking to select 170 Hz, 425 Hz, or 850
Hz frequency shifts.

CW/RTTY

Enables CW or RTTY demodulator and filter.

PRESELECT/BYPASS

Selects or bypasses optional 170 Hz band
pass preselector filter. Bypass if CW mode is
used.

REVERSE SHIFT

SEND: Reverses output frequencies for
Mark and Space for transmission.

RECEIVE: Reverses Mark and Space fre-
quencies for receiving.

Page 19



LOOP JACK

Provides 140 volts DC at 20 mA or 60 mA for
operation of a current loop type of printer.
Disable if not used.

HEATH COMPANY
BENTON HARBOR, MICHIGAN 45022

CAUTION : TO PREVENT ELECTRICAL
SHOCK HAZARD DISCONNECT LINE
CORD BEFORE OPENING.

D o

/0 CONNECTOR

ters.

Accepts slandard DB25 male plug for con-
necting data and control lines for TTY and
RS-232 computers or terminals, and prin-

AUX POWER

Relay controlled 120 VAC receplacle used
with Autostart to turn on computer and/or

printer.

FUSE LOCATED

INSIDE
AUX POWER

@ 120VAC 340 WATTS MAX

GROUND

For grounding chassis 10 water pipe or sta-
tion ground.

PICTORIAL 13-2

Page 20



AFSKIN

SCOPE MARK-
SPACE

RECEIVED
AUDIO O_I%

}—————=> 120 VAC

KEY-N O—
TLo—

ouT

——————0 R§-232

|— 0 LOOP

SEND-P O——

SEND-N o——

I A A ADA AND
AUTOSTART
HDA-3030-4 I i FILTERS AND —
PRESELECTOR ' LIMITER e >e—>| FREQUENCY SENBBULATER
(OPTIONAL) N SELECT DIODES
| DEMODULATOR
OUTPUT

__________ 1
|
I
0 DISPLAY
I
|
| LooP
|
| cw
I - FILTER/
| DEMODULATOR
I

RTTY

KEYER AFSK

]
l o
W FSK SEND +12 VDC —
KEYER Ao e §gg —_ | poweRr suppLY
120 VAG ——

XMITP XMITN

BLOCK DIAGRAM
(HD-3030)

——— 0 TTL DEMOD.

Page 21



Page 22

CIRCUIT BOARD X-RAY VIEWS

NOTE: To find the PART NUMBER of a component
for the purpose of ordering a replacement part:

A. Find the circuit component number (R1,
C3, etc.) on the X-Ray View.

B. Locate this same number in the “Circuit

Component Number” column of the e

“Parts List."” CW Demodulator Circuit Board
C. Adjacent to the circuit component

number, you will find the PART
NUMBER and DESCRIPTION which
must be supplied when you order a re-
placement part.

]

o H

© 0

el . BB

' : Al

g R _ ¢ 1 :a 3‘ 6&7 9 ES 500 340A
4:}' B il pengon v oty pos s ol | ey 050683

Filter Circuit Board

Display Circuit Board

LATOR
—BEERE22zz2 >
!
: = L= 2
I".. | n
saz g [l ¥ 83 §83zz=
] N \_\”' hy 904 3414 J
e =5 = 5 &1 H AR
050383 & 0{6{ 01010 (Shown from the component side AFSK Circuit Board
of the circuit board.

. . The foils on the component side



Main Circuit Board

8
|
4
o 1
| SO
- P +
QLIRSS \ T
35 CRé&
- 34
R29 -0
L w—
R230-{] o
L
= B

(Shown from the component side
of the ciraiit board.

The foils on the component side
are shown in red.)

Page 23



Page 24

TEST POINTS FOR VOLTAGE CHART

«t wy
~— o™

000000000000
0000000000000

IN/OUT

s
T

s
o

o
-

i

s
e

PICTORIAL 14



